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Roll No.l-.........--- Total No. of Qrres(ions : 05

T0tal No. of l'rinle(l l':rges : llJ

Code No. : B-420(B)

Annual Examination - 2017

Ctass BCA-III

BcA-3Ot Paper- I

CALCULUS & GEOMETRY
Max.Marks:50
Min.Marks:2()Time:3llrs.

)

)

)

)

)

)

)

)

)

)

)

)

)

)

)

)

)

)

)

)

)

)

)

)

)

)

)

)

Not" :,^,tten]pt any two parts liom each unit. All tlttcslions crtrt.r

equal marks.

Unit-l

Q- 1 .(a)Let l' :la.h) -> R be a boundecl litnctiorl otr l ,r. h l l'tlr c

that ./ e R[4.6] iti'lbr everyE; g. thcrc cxists rt prrrtitiott

P ol [a,b] s.t.

U (p. 0-L (P' 1) <e

(b) Let l(x): -1'? on[0. a]. a>0 sholv that I € /ll0-rrlarttl

f' -.t ,1-t =,rt /3lr
(c)State and prove the lundarrcntal thcolcnl ()l lrltcllrill

Calculus.

Unit-II

Q-2.(a)Discuss the maximum or minimum values ol'thc llnetiott :

'tlaou=xy+- + -xy)

)

l'. L( ).

\
[.
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Code No. : B-420(B)

(b)lrind the minimum distance from the origin to the plane
x+1y -22- l2=0

(c) Irind the maximum and minimum

value of u =atxt +b)y2 +c222

where .rr r )'t + zt =l and lx + my + nz = O

U nit-l I I

(3) Code No. : B-420(B)

(c)Find the equation of right circular cylinder whose radius

, x-l y-3
ls J ano zxrs rt 2 = 2 =r-,

Unit-V

Q-5.(a)Prove that the polar equation of a conic is I = I + n cos A
r

where the focus is a pole.
(b) IfPspr is a focal chord ofa conic whose focus is S and the

t
equation is l=l+e cosd 15snr

ll
Drove that -*----;= 

4 COnStant.'spsp
(c) Find the polar equation of a straight line which is at a

distance P from the pole and the perpendicular from the
pole to the line makes an angle a with the initial line.
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Q--1.( a )l est the convergence of

(b) 'lest the 
"onr".g"n". f

(c) I)rove that the integral f

edxt_t 
'[-' -t

, Sinx
e ' --------- dx where a > lJ

x'

dx

G-r)G diverges'

Unit-IV

Q-4.(a)Show that the plane : ax+!y+g2=Q cuts the cone

lll
)': + :x + xy = 0 in two perpendicular lins5 if : +; +: = 0

xvz
(b)'t'he plane: + i +: = I msets tlp coordinates axes in A" B, C'.tbc

Prove that the equation of the cone genrated by the lines
drawn trom 0 to meet the cirde ABC is

(h c') (c a\ (a ,\r:l -+- l+zxl-+- l+xvl -+- l=0'(c' h) [a c) '(b a)


